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TR29FE WHISKRABRELS

BEKBIEFR1/2

T & E A G| Al REME|BEHE| E &
ﬁEIEE 778 SRS BW=5.60~10.60m
+T 1.0 1

PRE T NREE 49.4 50
H{ERL T8 BEHNHY FEOHY 7.8 8
/NER#E BHILFE0.28m3(EFE0.2m3)
THEER: | % DIDAY L=55kmLLTF 40.7 40
Bt EBrtZ ANt TONIE 40.7 40
HEAKT 1.0 1
300 x 300 (#t#r ) L=2,000mm
B AERAIE [1.000ke/BELUT HliEm HERES 40.0 40
300 x 400 (#t#r ) L=2,000mm
B A BRAIE |1.000ke/ BT $lfE EBMRAEA 116.4 116
40ke/MLLT HIfE FL—Foo s
B A B RS2 | 300 T-25 iH L=500mm 16.0 16
A0%FEZ170ke/ULT aVvo)—+E
HEROERES|EEHA 300 L=500mm 140.0 140
SEEIAT 1.0 1
TERAE B49599452 (RC-40) t=29.5¢cm 12.0 12
TERAE B4459945Y (RC-40) t=39.5¢cm 34.9 35
=yt H399%52 (C-20) t=20cm 46.9 47
wREMAY
RERIE H399%35(C-20) t=2cm 317.6 318
EMIEE1.4mELE PK-3
EAE BAOBEHEAs(13F) t=5cm 364.0 364
EREMHRT 1_0 1
REHRIELS AR - FE-EHE W=30cm 4.0 4
R B4 T(— B L) iRt - K E- 505 - XFEW=15cmiE 39.2 39
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BEKBIEF22

I & 7oAl i Al H¥=E| w &
T 1
SHEERRYIET  |AshR 15emELT 240
SHEERRFERE  |AshR 10cmBL T 406
AsFRIENE - 05 | HEAEA DIDF 6.0kmLLF 28|W=66.7t
BEtEE Y e T
wemevzpL-am-asaa) (DIDAL) L=6.0kmLL T m 10|W=24.9t
BEBERA BEI7vATVBRARFIZEIOMmMERIES) t=10cm
EEE L av4)—r218-8-40 t=10cm| = 1
BEOFHMENSF)  t=3cm
E#hE T T av49)—k218-8-40 t=10cm| = 1 |assr05t cCotmmRI.0t
RE&RT = 1
RBEEET [RBFEZRESB =] 30




o I # iFHEE
2 I - A ER - % =
RHE
TR NREE V= BEtEELY = 49.4 m
BRL
TF BBHNGY #HEHHY|V = BAHEELY = 7.8 m
TR EER
/NS BHILF0.28m3(FE02m3) | EER KU, ]
+F DIDHY L=55kmLF[V = 494 - 78 + 09 = 40.7 m
it
BIZANMTORNE|V = EE&LY = 40.7 m
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FE R - 0 A it E R H 2

B A RS

300 X 300 (EMFAE) L=2,000mm Al

1,000ke/ LT $l40E Hmpas | L = 280 + 120 = 400 m
B A EE

300 X 400 (EMFAE) L=2,000mm Al 1

1,000kg/ BT 4k Hmpes | L = 382 + 782 = 116.4 m

BHAERES

40kg/HUT HIKIE JL-Fo0E

|z so0m 125 1B =so0mm |N = ( 400 + 1164 ) = 100 m/B&FT = 16.0 &
BHAERAESE § .
0% 4B 170ke/ BT 1v9)—+E IJL—FI&

FHiEA 300 L=500mm| N

(400 + 1164 ) - 16.0 & = 140.0 &
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£ f B T HEHHE

FE R - 0 A i OE AR M=
TR _ i
3 B B &) {81;7E(300 x 300)IE &
BEHE959v5(RC-40) t=295cm| A =  0.30 X 40.0 = 120 m
INE _ i
= B B &) BE{A17E(300 x 400)3E &
EHE959v5(RC-40) t=395cm| A =  0.30 X 116.4 = 349 m
LBk _
LtiEEkY
9799%70(C-20) t=20cm| A = 12.0 + 34.9 = 469 m
REEIE
HEMEBY i
h399%50(C-20) t=2cm|[A = BEIEELY = 317.6 m
=2
EHIEE1.4mElE PK-3
BAEOBEREAI3F) t=5cm | A = BitEE LY = 3640 m




XBERe2HEBE I HRERTEE

7 - A1 B - #HE

X E R T{ELEER)

TERKY FLEEDOL=20m+HZLEEL=2.0m

ERRt- FH-RH W=300m 2.0 + 2.0 = 40 m

—
1

XE#RT(—FEF.i)

EEREY 1£(5.60m) E(6.75m) 1.(7.26m) 5119.61m

BRI K-S - XEW=15omiaE | | 1961 X 2 ~Ff = 392 m




¥ T ( 173 ) # iR E
FE R - 0 A i OE AR M=
MTAA—TH
QERIVEBER 3 —
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(1R) 7820 ‘E
S IR U BR
(1XET) (2 T)
Ashi 15cmLLTF L = 157.00 + 86.60 = 243.6 m
(1RFET)
( 7820 + 030 ) x 2 = 157.00
(2RET)
8.80 + 77.80 = 86.60
B
AshR 10cmPAF  [A = BitEE LY = 406.0 m
AsFOEME - 05>
HHAEA DIDA 60kmL |V = 406.0 x 0.07 = 284 m
(E=)

W = 284 x 235

= 66.7 t




I (23 YHBEMHEE

FE A1 - #851 it & R M E
BEMEYTHLE-NHN3GEES)
BEEEY MR ]
DIDEY L=6.0kmLL T |BIREEWERAE LY 100 m
(FEW1 UZ!AIE300)
Wi = 1564 x 1340 kg/m = 1,000 = 210 t
(EEW2 UZAIE300%)
W2 = 860 x 450 keg/#% = 1000 = 39 t
(EEXW=W1+W2)
SW = 210 + 39 = 249 t
(A%
V = 249 = 250 t/m = 100 m
ML
BERE BEITTVRARHEOmmERES) t=10cm
a2 )—k@)18-8-40 t=10cm 1.0 =

156 m

HBERA BAEI79v70RKARIOMmERHE L) W=10cm, t=10cm
A = 010 x 1564 (EEHAERAFBEEE)

V = 156 x 0.10

BisEa> 92—k 218-8-40 W=10cm. t=10cm

1.6

3

m




M I ( 3/3 )HEGRHE

B -

21 - # A1 =
EthE 4+ T

BEOZEHEAs(13F) t=3cm

3291 —h218-8-40 t=10cm | FR{F TEE KV 1.0 =X

HE ﬁb_lﬂ][ifﬁ AsEHZERR t=15cmBL T
L = 203 m

SHAERRBERE AsElZERR t=10cmBLTF

AsTOEME - 045 BRERSHEEEt=3cm DIDEY E#EIEEEL=6.0kmLLT
V = 61 x 003 = 02 m (W= 05t )

mTEE REBCGGEDS) BEGOZEHIEAS13F) t=3cm

ﬁ Hﬁ{?]l*ﬁ Coffidth t=15cmLLTF
= 696 m

L Hﬁﬁﬂiﬁ CofidthlR t=10cmLLl T
A = 210 i

ComiBHik- 05y BRER&HEEEt=10cm #Ef; DIDAY EMZIEEEL=6.0kmLLT
V = 210 x 010 = 21 m (W = 49 t )

B{Tavy -+ @18-8-40 t=10cm
V = 210 x 010 = 21 m




= H =3 (1/3)
A= E % |pawor rmwane & v ® AR E ¥ | powo remamE gy "

No. 0 — — 07 — — No. 0 — = o — —
No. O 2.6 2.6 0.6 0.65 1.7 No. O 2.6 2.6 0.1 0.10 0.3
No. 1 17.4 0.6 0.60 104 No. 1 17.4 0.1 0.10 1.7
No. 2 20.0 0.6 0.60 12.0 No. 2 20.0 0.1 0.10 20
No. 3 20.0 0.7 0.65 13.0 No. 3 20.0 0.1 0.10 20
No. 3 17.5 17.5 0.7 0.70 12.3 No. 3 17.5 17.5 0.1 0.10 1.8

a 715 49.4 & 715 7.8




=" H # (2/3)
A= E # | wme eswrm 5 n ® AR E ¥ g irmwEm wn "

No. 0 — 880 — — No. 0 — 940 * *
No. 0 26 26 3.80 6.30 16.4 No. 0 26 26 4.40 6.90 17.9
No. 1 17.4 4.00 3.90 67.9 No. 1 17.4 4.60 450 78.3
No. 2 200 410 405 81.0 No. 2 200 470 4.65 93.0
No. 3 200 3.80 3.95 790 No. 3 200 4.40 455 91.0
No. 3 175 175 g:gg 4.10 7138 No. 3 175 175 5.00 4.70 82.3
No. 3 178 03 200 5.00 15 No. 3 178 03 200 5.00 15

a 77.8 317.6 =) 77.8 364.0




= H = (3/3)

A= B H | peteowEm w A P AR B ® " HEw [vEmAlE W i
No. 0 — 1000 — —
No. 0 256 26 5.00 7,50 19.5
No. 1 17.4 5.10 5.05 87.9
No. 2 200 5.30 5.20 104.0
No. 3 200 5.00 5.15 1030
No. 3 175 175 g:gg 5.15 90.1
No. 3 17.8 03| >0 5.00 15

& 778 406.0 &




BEEEYEE
2 Al kT iE A R H =
BHEEY
BEERURIEIE  |URAIE 300 (5ZEZ=134.0kg/m)
No. O ~ No. 3 + 175 (&)| 782 m
No. O ~ No. 3 + 175 ()| 782 m
Bt | 1564 m
BEERfEE  |UMBEIER 300 (8% F=45.0ke/H)
No. 0 ~ No. 3 + 175 ()| 860 #&
Bt | 860 #




W4t T B8
; L W A
B R 7 Al | wem | o =
1E BT No. ~ No + 260 [H]] Co 26| 030 0.8
25 B {+ T No. 1050 ~ No. + 1230 [%£]] Co 1.8 0.30 0.5
3EHUT T ‘No. 1350 ~ No. + 6.20 [£]] As 12.7 0.30 3.8
45T T No. 1350 ~ No. 1 + 6.00 [H)] Co 125 0.30 3.8
55 HR{t T No. 6.10 ~ No. + 1930 [H]| Co 13.2 0.30 4.0
65 HR{t T No. 7.40 ~ No. + 1000 [%]] Co 2.6 0.30 0.8
75 H{F T No. 1240 ~ No. + 1910 [%£]] Co 6.7 0.30 2.0
8= BT T :No. ~ No + 430 [X]] Co 4.3 0.30 1.3
95T T :No. 2.00 ~ No. + 1170 [£]] Co 9.7 0.30 2.9
105 B4 T No. 1180 ~ No. 2 + 1800 [%£]] Co 6.2 0.30 1.9
115 E4F T No. 1800 ~ No. 3 + 560 [H]] As 7.6 0.30 2.3
125 B {$ T No. 610 ~ No. 3 + 1290 [H]| Co 6.8 0.30 2.0
135 B4 T :No. 6.20 ~ No. + 940 [£]] Co 3.2 0.30 1.0
~ = 218-8-40 t=10cm Co 69.6 21.0| C11E&A)
- - BEGZRENSF) t=3cm | As 20.3 6.1] (2&EAm)




